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Client Question

Sr. No. D

Question Body and Alternatives

1 1 includes all the conative, cognitive and affective activities.
SMETHSI 2 L6V, M6 HMILD 2 6T &M Q&FWHLITH S emer S60TERI6T L SHHUWIFI.

fM Personality

3L,EeBemnn

52 Behaviour

BLE®S
‘,AB Intelligence

Dietorenor(iley
‘64 Memory
BlevsoTeu M6V
2 2 1d means :
@)L 6T60TLIG 60T QIUIT(BH6T :
Unconscious mind

Beoreled Lneorin

‘,/\2 Conscious mind

[560T6Y LOGOTLD

A3 Semi Conscious mind

3|60 [B6UT6Y LOGITLD
_A4 Semi Unconscious mind

2J6m1J Bereled Ln6uTLn

3 3 The term behaviour refers to the entire life activities and experiences of
BL SN 6T6OTeaID G&F M6V @)60T (LD QUMLDEMSHF QFWMHLIMH &HEMETLLD DI MIGH 606D
(GlultalutN

fM All living organisms
Sienerrs gl 2 ulifl 6ot i 6T
52 All Human beings
2|M6ETS Gl 06l & TG 6T
53 All Animals
2|6M60TE S el 6V (G 55 6iT
4
Psychology
2 ameflwley
4 4 Which one of the following systems involves in elimination of waste and destruction of bacteria in the body ?
LD & & 600TL_6U (D MIGIT 6THS LO6uorLeuld &ifley&Hemnem QeuaflGwmmeyd, BBl &eneT & &a|bh QFWRmSI ?
1 L. .
Digestive
Q&flnmer
2 Circulatory
SHEMMLL

3 Nervous
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BrLLAwe
54 Lymphatic

Blevor 1y
5 5 "Classical conditioning is the theory of conditioning" was propounded by :
LILDEDID 94,55 BleneL W MISH S CHTL LT ML (NS0 (LNETEIEN TS ST :
"Al B.F. Skinner
B.F. 6v&\edreor [y
'AZ Jean Piaget
sameor LWMGe

_A3 E.L. Tolman
E.L. HM6LLO60T
_A4 Pavlov

LImeleurmel

6 6 Investigating the industrial strike of a factory by visiting the institution and collecting the data is an example of method.
2@ Q5THMHFTdeUNL ghLBLD CalameBlmisSs CUTTTL L Sens Chile LmFaneuulll () &8 61608 6me6rT
Cr&Iflg g, LieuaTell&FmIenenrd: @ 2 L Li(h &Si6usl P& R T(HHSISHSHTLLMTGLD.

! Experimental

L GFME 60 607
A2 Eield Study
&6 316y
'AS Observation

2 MM CBHTEHH

A4 Introspection

SH60TOT TG Q& U1 & 6D
7 7 At what mode, the children conceive objects or events without action and think interns of the figures :

QUIMIBL_&6T B16V6V S BlBHLDEY&HEDET 6TTHHGEUMIH Q& WIGVLIMIQTMILLD & LPHENSHET 2_6TalTHITR S Q& TeTal Sl
IDMHMILD 2 (HeUGF F)5G60)60TUITETSI 6TH S Blemevuiley g metTmith ?

1 Iconic
2 (HeUsH
2 Enactive

QFwWeuLI(
A3 gymbolic

GO @

4 Rational

UGSsDIe

8 8 Select the correct answer for the following assertion and reason.
ASSERTION: (A)
"The slow learner appears to retain better than the fast learner".
REASON: (R)
"When learning is rapid, forgetting will be slow and when learning is slow, forgetting will be rapid".
LN6TeuBLh Fnmm LDHMID STTTSHME& Fiflmer allenLenlig CHIHOSHIESHALD :
FDDIAL . L . AP
QOEVEVE BMHCUITT, Cal&LINNTES SHELIMENTE ST PmbS Blanereled B SILIeUTTES G5 TeoTmISR 60TM6T(j.
SITIeoTLD [R] :
allenyalns &MHGWLELTS IDMEE6 QLSIaNS @ @B G DMHMID QLS HHEGLIDCUTS LDMES50 aflenTealTs
QOm&EGID
'AI [A] is true but [R] is false.
Fahm [A] &if], S460TT60 STT6torid [R] Heum
A2 Both [A] & [R] are true; and [R] is the correct explanation of [A].
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FnMHMI [A] DHMID &TFeoorid [R] Q& @ Fesor(\D &Fifl; InMHMILD &Tyevorid [R] 6T6dTLIGI Sa MMM & [A] &flwimeor
afleng: &M@
"/\3 [A] is false, [R] is true.
Fahml [A] Heuml, &myesorid [R] Fifl
64 Both [A] and [R] are true, but [R] is not the correct explanation of [A].

FaMmi [A] LDHMILD STT6e0orD [R] QL& @ TeoT®ILD &), L6016V SITTeooTLD [R] 6T60TLISI S DM & T6OT [A]
Fiflwmer eNemd & n6060

9 9 The statement which states that ideal motivation for learning decreases with increasing task difficulty is known as :
19607 @)6V5 & &6 6T P& FILILITETSI &MHMED BlemeVemIL GMMEGLD 6TeTLICSH F\MHS 26165 L0ME LD 6T60TM
FaHEMM Gl&ITEO0TL 6U6M T LI 6D M WITEUTS! :

:AI Maslow's Law

L0menGeurm ellG)

2 Yerkes - Dodson Law
WrF&len - LIl ger e

‘63 Atkinson Law

IR eiTeer oIS

'A4 Darwin's Law
Lryelere e
1010 is the period of life in which an individual shows signs of development in every respect.
QUITLD & 60 & Uil 6or Blemeuuilev HeolBUT Siemerrd S LiFlnmesormigeflanin eueTiFR ojemL UL

Golullener QeaueflliLG S SieuT.
fM Adolescence

GLIUL@m6LD

A2 Youth

@ em6TemLOLILI[HEULD

A3 pdult

QWS WS T LIGeULD
TA4 Later childhood
H&LbHensLiLealn
1 1 Growth stands for the overall change of one's

aleTi&d etetTLIS epeuifletr el (h QDTS S D QUTNISS DR M.

! Personality

25EH60L0
52 Attitude
LO6OTLILITE0TEmL0
3 Aptitude
BTLLLD
4 Interest
SpJeuLd
12 12 The term emotional intelligence was first introduced by :

LDETQEI(WDEFE Hievoreuorniley eTediTLIEN S (WDH6N6L MW SLILIGSH W e :

‘_Al Daniel Goleman
GL6oflw6ev Gamev (HGLD6DT

52 David Caruso

CLAL &mGEFM
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.A3 John Mayer and Peter Salovey

M6t GWF MM L LF evGeumGeu
‘:A4 Reuven-Bar-on

FlGWITeU6dT — LI — 9,607

13 13 The term emotional Intelligence was introduced in by two American university professors.

@ 6o QL& &6 LIV&HmeV&&HLE CUIFTRFWT&HETTE) “Bietorenrnil6)] DTGl (WHEFF “ 6TeTm QTS0 S

—— 9D @evor (B SMWSLILBGSSILLL &I,

Al 1990
1990
AZ 1950
1980

A3 1996

1996
A4 g6
1986

14 14 Nearly percent of all retarded individuals, mostly children and adolescents suffer from severe mental retardation.
Sleners Sl L6t SmIGH W BLIFsserfley FH6eigID GUIT, QLIIHLDLITEVTE GLOHenSSH6T LDMHMILD G)6TLD
LIBeUSH 6T & (HemLDITeT 06T aUeTIFSR &e6Tmlw Blemeuuley 2 _eTerer(y.

Als

5
A2 4s
4.5

3-5

A3

35
A4

15 15 found that many Intellectual activities depend for their functioning on common elements and practical purposes.
QUIMTSIQUITET Fo MIGET LOMHMILD HEDL (LM [FHIIMTETT Q&F WML IQMES 1q L1LenLul6h LIevCeumi LG SFTH
QFWEL&ET @BLILISTS &HevoT(HLIG &S euT

;M Spearman
LW GLoedr
{AZ Binet
Neor
63 Thurstone
ST GLTedT
_A4 Thorndike
SITT600T6n L&
16 16 classified personality into two classes such as Introversion and Extroversion.
21,EBMLNEMUL &) T600T(H) EUEN S HETTSH 2&CHTESH DMMILD LM CBHM&E6 eTer L1FlG ST
fM Munn
[
52 Freud
Wgmd@
63 Jung

oI
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20

21

20

21

A4 Allport

2L,606UMTL
A 16 years old boy has a mental age of 20 years, then his Intelligence Quotient (IQ) is :
62(1H 16 QIWISIEOL LI 60)LIUISDIS G 06T Ul 20 6T60T160, 261 6ufledr Hietoreorniley eN&@SLD :

Al 199
120
A2 139
130
A3 140
140
At o5
125

Vygotskys's Blocks are used to test :
UGB TR UNGT &L emLS6T LstTeuBeuensd LFGFTH &8 2 565 60T M6 :

‘:Al Illusion

Aflus &1L
62 Span of attention
Heuereisa
_A3 Concept formation

QAUINSIENID &HSSI 2 BHEUTESS
_A4 Memory span

Blemereurmmev efg &

The term self concept was first proposed by Lecky and later it was adopted by in his non directive counselling.
QeV&H eTatTLIOIT WETALMNABHSE SHHBSS TeTM QF TV HTQBMILILIMGSSID ey LsTEHe06)
&7 1D M1 &G & TeToT L6 [ Y

_Al Carl Rogers

&IMjev GImeyen
fAz Donald super
GLITeOTMeLL. @& LI
53 Ausubel

SLFCLIG

54 Williamson

aflevedlwiLb & 6ot

Curve of forgetting gives an idea about :

LOMEG 6V aUeeTCHMT(H CULMHIGLD &H(HS S 6T60TLISI
Al Ability to recall

IS LMg60 Bmenin
.AZ Cause of forgetting
LDME 6V &ITT60TLD
53 Percentage of retention
BHEH&HE6IGH F&aTHID
54 Power of remembering

Bleneurey & 560 ) mear

Educational psychology is experimental Psychology.
U lGFmHement 2 aTallliey 6TaTLICSH S6uail 2 amailllicy &y, @&LD.
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fM Human
il
52 Non - Human
weflGerHm
53 Animal
afleuril@
64 Plant

sauy

22 22 group is the socializing agent.
GTEOTLIOT FeNG (LNSEUT LaUl.

'Al Secondary group

@) [J600TL_ITLD [B601608 & (LD

fAz Tertiary group

CLOGTMITLD BleM6avs & (LD

A3 .

-~ Primary group

WS BlemesGW

54 Quaternary group

TGS ITLD [Bl6M6V8 & (LD

23 23 Intelligence flourishes to the core during period.
5160076007 (1] 61 ITEOT 1 LIBaUSH 60 QF(DemLD SemL U]LD.
fM Later Adulthood
L6t WS TLIBEULD

A2 Adulthood

WHT LGaULD

63 Adolescence

GLWIL LIHeLD

A4 Childhood
LAeiTemarTLiLIHauLD
24 24 In the classroom teaching, a teacher can control, manage and predict the behaviour of the students on the basis of
aIGLiILem, HHLGS56560 b oA flwy W 219 LILIEML_UITE & G\ MT6UoTL LOIT6woT6M [ & 61l 60T

BLEMSGMWES &L HLILGSS, GLOEVTEITenIN Q& I LnMHMILD &600f188 (W19 U|LD.

:Al Curriculum
HMOUSH L LD
2 Evaluation
W NIN(C)
63 Research studies

21116 S6lT
’_A4 Methods
(M SHET
25 25 Which one of the following is not the reason for deviation of learners in study ?

S&HEUMH LI LIL9e9BHS elleuds B Lh& 60T aumnl6y 6T&I &ITJeu0T0TE TSI ?

fM Lack of Interest

S JeuLsleTemnin
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A2 Uncomfortable situation

QEEHSHLOMD GLo60
_A3 Lack of motivation
2615 5 L8l 63T60IL0
64 Aspiration
el
26 26 In Insight Learning, the reinforcement of learning is through

HEHETLH & HHMEN6, ausviaLl L& &Mmey ererLig ‘ eLOEVLD HEMLQUMIR M.
fM Response
SI6VMHIGHE)
2 Organs
2_MILIL&6T
53 Feedback
eremml_ L b
4 Stimulus
SIT6v0T L6V
27 27 Engineering aptitude belongs to :
QuUTMNUNWIEL BITL L LD 6T6TLISI E)6UAINGHIF FTTHSSHI
! Professional aptitude
HMOVGQSTLI6 FTIHS HITLLLD

52 Artistic aptitude

FHeM6V FMIHS BTLLLD

53 Mechanical aptitude

QWBS LD FTFHS BILLLD
‘:A4 Scholastic aptitude

HevallF QEFwWeLIT®H FMHbHS BHTLL LD

28 28 Which one of the following is not needed to adolescents ?
L 661 (1 61 6UTEU D MIET 6TIHS 6R60TMI GLOFLI LI[HeUS R 0T ([(H&H G CHemelLILIH LR 60606V ?

! Physiological need
2 LMY GgHemeu
2 Social need
FeNsS CHeme6
53 Integrative need
@MeLILTL(H CHemeu
64 Self-assertion need
FWeWILBH &S50 CHemel
29 29 According to behaviourist, which one is absolutely necessary before thinking can start ?
BLSSANWEVTT FammILiLG, ABH LS QSTLKEIGLD (LT 6181 (LHWEMLWTES CHameuliLGH S ?
Al Interest
<Sbielld

52 Need

Gz emeu

63 Motivation



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2y47 Eooale Play

oa1g G el LI
A4
- Images
LD 60T85 85 (IH & B 60T 2_(TH6ULD
30 30 During adolescence, the female child thinks which one of the following beyond self ?
GWILLGISH 6, @ O LI GBS B LD G600 LalMHMI6T eTeng Ll LM Blenerd @i ?

"Al 1 am a human being

SITEOT 62(1h OG0T S G 5 60T6mLO |60 L L6V 6T
52 I don't know who, I am
SITeoT WTATeTm Qs flwellevemey

3 Tam a girl

SHIT6OT 6(1H G\LI6vOT
A4 .
- lam a curious person
SHITEOT 62(1H b [T6U(LOETEIT G LI6voT

3131 @& s 6t NSILILILG. FluImeTs :

:AI S LI
A2 PO

. STWS 5hend
A3

. eLTeHon

A4 .
T2 mi Qum@meT

32 |32 SN QFTEL TETLSHE aULOMIGLD Goum QILILIT 6TeT6ur ?

_Al QB6Y

fAZ G&merTLd

A3
ACIIC)

FmenLo

33|33 wriug uevelleim GamiiLenl QmhlesaneT gmLl @engLliug

Al 2HMIBTL QUTHETESH T

:Az QT WITHMIL QUITHET G&ITelT

_A3 STUNen &L QUMBH6T C& et

_A4 Q&MeuoT(H ol (B)LI QUITH6T G&IMeiT

34 34
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QummsEs.
(A)  CeusussT eUmBSTET (1) ellemestChugss Gy
(B) 2 eusremste Glesoomsst  (2) eflefl&GlamLy
(C) uwss umLLD (3) QuwGlysss GlsmLy
(D) =femiEFGT su(HES (4) ersumils GlsmLy
Al
. (W@, (B)-3), (O+(1), D)-(2)
A2 (A)6). B)1). (O, (D)4)
A (A10). BHQ), (©-1). D)4)
A (4. B)11). ©-3). ©)1)
35|35 S EOBOCuANUNT ALl CFEROMT T QUMD W 6T,
:Al FEHEQHEGMD LS WMID H(HOBGC
A2 . . . .
: Q&MHe & U QLIBHSINM (NSS!
A3 . . .
. BETAUNHENBLI LeTey BB
:A4 FBIG6T BTeTallpT D6VE B (BHEBHLCE
36 |36 D@6 - ETETLISET QUL LT QULDE G Q& TV 6TSI ?
Al L@ weur
éz FedlliL]
A3
. SeuaTLonss
:A4 CFMHMIG &HEHF
37|37 BTG S EVHTS BEHE&TUIAIT CLITELSH
Q&GS TE CEIHIIRWE QU
—@& Gl umeiley Liullermy au@BLd o|eoof] :
f“ 2_aUemLD Ievorl
A2 .
: Q& Tlev 2_alemin ) 6uofl
A3 L .
. qTHHBIGHTLH 2_alemin 3f6uofl
A4 . .
. @OUTEET 2 auemio 260011
38 |38 2 T &6 QFTLM6U 6TWDSBIS :
A g
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A2 .
7 o|etTemeuT

,A3 © 55 60T6™) 60T

54 G eor

39|39 QY @M TWESHHETTE al@BLIEA QLTSS :

Al g

AZ o4

A3 90

A4y

40 |40 @BHWT ellHiFemev QUDOD LIMG SLlemip oLl & QTHWITES CauesoT(BILD 6T60TE Fn Mo :
Al . .
SIS i evorevor T
:Az Quilwrmry
A3 mmulCs Wevevs
A4 . . .
2 &SI STHEH WG &6t
41 4

LUTQeT(® aubSl FaQm@® QU@L LML aulfl @)L DA LIMID BI6 :

Al 5
. Bhlener

:AZ GOHOSTNS

N sispnon

A4 .
C 2EEoBID

42 |42 Q&MLGIMME GHMIeV IDTCSHIT eTedTmILD

2 qorLmulledT UG Q&BTHSS! — @LILITLeumRflwF wmy 2

fM Q& T6OOT60)L_LO T60T

A

2 QETEMEUWITIT
_A3 &Ly

A4 .
. Boeper
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43 |43 "SHCMTIHGE Hevall HEVGET HEVETEVEVITEL LDMHBMITYH 346001186V GeUEDoTL MeUMD" 6T6dTM eufl&e6T @)L LD QUMM

Q.ITGi):

Al .
. SImeBBlFTyD

A BBap eflerésid
A per@ers
A4 .
. BreviquIny

o Fflwrer @ensmrenwis Coirs.

(A) smRGswWD srener - SlmuyT

(B) wwolenL 2 HugE - FGrm)

(C) sUlpmIiyer anTebs - CamubySETT
(D) euEH#] WLIHSTLD - SlewmHlEss

Ay

45 |45 GLDE G 6T60TLISH 60T Goumi QLILIIT 6T60T6OT :

f“ GLES

QUTEnL
?ﬁ Q60T
A4 .
D @as©
46 |46 TWESIHGD AFTOHMGESLD B)6VEE60TLD Fo.MILD LOHOMTH HT6V :
fM CHLIBTSHLID
A2

LOTMEOTEVMBIG T LD

A

3 GEUWITETHS LD

?M FHHTCTHLD

47 |47 2 VHSHCOGIW @ QUMK&STSE 2 608 WMHTH BLES W WS BTE 6Tl ?

M gi@un
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Al

2 ©)6VHIN G

53 GevEWIT

M amsnuy

48 |48 1500 21,6007 (H B EH 5 (LETL] QeuaIBITL (D LIEHMEUSET 6UeVen & au(Beug LM

“Q56T DeFsHEG L] 9l eIl HenFsHE g&ely aLulledr" 6Tedrmi LIMIQUI L{6VeUTF Wy ?
51 &L Levallwieor iy

A2 . . .
. FSRWSS Leveu)

63 856001 | ULI6BT L, Ml (5 65T (D 68T
A4

LIJ6ooT [

49 |49 CauaBTER WM& STeuld 1730 — 1796. GUaUBTERWTT Poushienseni LSL L 46T 26 LD.

,Al 1740 &).19..

_Az 1745 @19

A3 1780 .19

54 1785 &).19..

50 150 '6T60T 2 U9 SjemeoTWImUl 1B ; E)6TeU6y 60T @) 606 ULITEDT' 6T60TMI (& 86011LLD WM @) 6TeU6VTs @) FITLN6T &L G\&mmy
?

_Al afL_ewoTenT

A2 .
. Urgeor

A

3 ©)6V8 (G561 60T

,A4 &5 1feuer

51 51

2_QIGLOWILD (LPEITERID 2_auenin LN6TeINTE S|6MLNaIS eTeor LILI(ILD.

Al . .
7 2 g QsTLY

2 .
2 QWS QST
A3

2 (HeusLD

54 SIGTAMAS Q&M%
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52 |I52 LNeTeuLb Q&FTH &ML LT LIME QUW®BSHG L QFTeemneud &eoor(HLIg &S a0 :

51 QEUETENEIT 3419 & & T6dT

A2 . .
: &(HMEIGUN6L LIMIQ IS

_AB QeueaTemerl Lig GBS S

A4 . .
. QFBSTOOT LSS

53|53 'l & DL — 6T60TLIG 60T QILIM(HEIT :

Al Beuid

A2 .
7Y eumeorib

A3 .
. srho

A4 .
. QB@GUY

54 |Is4 FCL QHTHHSILLBETET QHTLIH6T60 QeUaTITLIT ©)608 & aSE ME T QS TLTHm6T CHa| QF1s.

(3)) QFLILIG R6m&F QUMM QI(HLD.
() @ TE0OTLLY. (LPS6V LI6Tel 1@ J6toT(h) I QUEM T f6MLOW]LD.

(@) F&ETISH (PIgLd.
(F) @UWMET Cl6UETITL 606, Q6UETITE T G16)600TL 66T GQLIMMI el(HLD.

Al of, o4 @ WU @I &1,

62 3, 3, T LWL G &ifl.

3 SMeTSSILD Fifl.

A4 L
. DTSN SHeuml.

55|53 UL BFSsmeTTer FhETLLATuTeller Gamulle) ojenLnbSIeTar Wmeul L LD 6Tg! ?

! SETETHGMER DMLl LD

A

2 G&memes omaul L LD
j“ SGLYN meul L Lb
?4 FEIM({H LomeuL L LD
56156 SI60TL] 66T QUIMTIBENET 2 60T IS SID RATSSIF Q&FT6V :

Al G&m
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,Az QBT

,A3 [l

M e

ST |57 "QBHIL ©) 60556 Q& MaTen s g6l e Lsrereniuileh s @ evsseaurih” - eretenib QUmAUNLIE Breney

WS WIT Wmy ?

Al .
. P.euTBITEeT

A2 . . . .
. LOM&en(LPevevy

{\3 F.9|555 W60 mI&IN0

A4 . .
. Q&F.emeU.FeuoT(NSLD

58|58 ST Hlemeoorss &Kl PN OIQUITLYSILD, (PLMeVS H6et6ooTs: & Il QILIHLOQ LMWL SILD &600TL )15,

Al . . .
7 emeusenm, (LPEOTLIGN & & meuLD

fo‘z LOITEDI6V, STTSHMTEVLD

A3 gmum@®), G&efsmeuln

4 WIMLOLD, &TF&MeVlD
S QUTEBHESTHMSS CH1J&.
,AI Subjunior - LSELN GGG T

{\2 Carrom - [FITELMTMAIG L QL1 L LD

3 Consumer — [BI& T GaUIT
:A4 Referee — (6L
60 |60 ‘@\6MEVEHT¢ TOTERILD QF e 6Tl eUem & GLIMEd 2
:Al Wsm Gumed
éz WmHmis Guimed
?“ @emL L1 Gumed

_A4 SemL Ll GUmed
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61 6l Fill in the blanks with a given word that conveys the correct meaning of the sentence

grow well in coastal lands.

'Al Beaches

{\2 Beeches

‘53 Peaches

64 Dates

62 62 Choose the correct modal verb indicating permission.
1 use your phone please ?

Al gpan

A2 winl

‘_A3 Can

:A4 Would

63 63 Fill in the blank with the suitable word taken from the options.
is a figure of speech where an adjective describing a noun is transferred from the noun and it is meant to describe another noun in

a sentence.
1 .
Repetition

52 Metaphor

3 Synecdoche

A4 Transferred epithet

64 64 Fill in the blank with appropriate form of the verb given in the option.
When the burglars broke into the house, everybody soundly.

1 .
was sleeping
A2

is sleeping

_A3 slept

54 have slept
65 65 Which of the following is a monosyllabic word ?

Al
. ago
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A2
-~ moral
53 rhythm
fM delay
66 66 Complete the conditional sentence
If1 (be) a fish, I would swim.
Al
© am
A2 .
ST s
A3
.7 were
A4
. are
67 67 The part 'superscript' in a letter is meant for :
'AI Leave taking part
{XZ Receiver's address on the cover
A3 Communication part
4 .
Greeting part
68 68 According to a famous Japanese Folk Tale 'The Envious Neighbour' Which one among the following is not correct in the story ?
Al .
. The old farmer was a Kind person
’_Az The dog helped the farmer
A3 . .
.~ The prince rewarded the neighbour
A4 . .
. The wicked old people mended their ways
69 69

Choose the right passive voice for the given active voice "Who taught her English ?'

fM By whom was she taught English ?

..AZ By whom she is taught English ?
‘63 Who has taught English ?

4 English is taught by whom ?
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70 70 Which of the following word is not a suitable derivative for the word 'common' ?
Uncommon

Al

fAZ Commonly

Commonment

A3

A4
. Commonness

nm Choose the correct article.
Earth revolves around the Sun.

..A 1
52 The
A3
A4 This

72 Choose the suitable combination for the blended word

'motel' :

! motorway + hotel

2 motorcar+hotel

3 motor + hotel

64 motorist + hotel

73 73 Repeat the same words or phrases to emphasize a feeling or idea in the poem is called :
! Alliteration
2 Simile

Repetition

A3

_A4 Metaphor

474 Fill in the blank with correct determiner.
There are biscuits in the plate.

fM few

2
some
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A3 many
A4

much

75075 When we develope a note made from an original text, it is called
1 . .
Developing Hints
52 Note Making
A3

Note taking

4 Summary Writing

76 76
Match the idioms with their meanings :
(1) take five - (a) blisfully happy
(2) seventh heaven - [b) confused orin astate of
disorder
(3) on cloud nine - (ec) take ashort break
(4) atsixesandsevens - (d] very happy about
something
_Al c,d,a,b
52 d,c,b,a
53 c,a,d,b
_A4 c,b,d,a
71 71 In a code Language CARE is 27 then what is READ ?
Al g
A2 3
53 27
A4 g
78 78 An English writer of Children's 'Black Beauty' is
fM Mary Botham Howitt
52 Ogden Nash
_A3 John Masefield
_A4 Anna Sewell
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979 Among the following sentences, which one is incorrect ?

! He has grey hair.

fAz What is the time by your watch ?

A3

1 cannot cope up with this pressure.

‘64 I prefer coffee to tea.

80 30 The Paralympic games are for
.
disabled people

A2 Children

3
women
A4

81 81 And out of its leprous hide sprouting leaves

What does the phrase 'leproushide' mean ?

Al Covered with roots
52 Covered with flowers
Covered with leaves

A3

54 Covered with scales

82 82 is a word (Part of Speech) which expresses some sudden feeling.
fM Conjunction
52 Interjection
A Adjective
54 Adverb
83 83 What does "arm in arm" mean in the following sentence ?

"The two men started up the street, arm in arm".

fM with arms Linked together

2 with weapons in hands
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53 with handcuffs on wrists

fA4 with holding armour

34 34 Find the synonym for the underlined word.
The narrator was quiet when Pongo questioned him.

_Al furious

A2 noisy
3 silent
4 agitated
85 85 A means of transmitting and receiving both voice and picture for a personal Conversation is called
fM Photographer
éz Phototelegrams

53 Phonotelephote

A4 Jovian

86 86 The word "Spring Fields" refers to

Al
. anovel

62 a place in London

a team

fA4 a short story

87 87 Ruskin Bond was honoured with" The Sahitya Academy Award" in 1992 for his work

fM Room on the Roof

52 The Blue Umbrella
A3

Our Trees still Grow in Dehra

54 An Island of Trees.

88 88 "A thing of beauty is a joy forever" said by
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89

90

91

92

e

89

90

91

92

Al William Wordsworth

52 John Keats

"A3 William Shakespeare
64 Robert Blake

The act of trimming a plant is called

Al Chiming

2 Pruning
63 Sprightliness

4 Cutting
State which of the following sentence is complex sentence.
‘Al

‘We must eat to live, but we should not live to eat.

52 Unless you have a valid passport you cannot leave the country.

‘63 This is not the way to answer.

4 Smita carried out the survey and presented her report.

®
If “]ga)z =103, then x is

x
ﬂ}z— = 108 eresfled x e WHlLUTaTS) ©
10
Al
6
As
5
Ay
4

Ad 3

3

By selling a two wheeler for Rs. 85500, a shopkeeper loses 10%. For how much should he sell the two wheeler to have a profit of 5% ?
@ HFS ST CUETITLY RETENM 6(H HEOLGHSHMTT Rs. 85500-8@& allDLIS TV SI6UBHEG 10% BLLLD gHLGRMSI. 5%
@evmuLh QUM Ceuetor(H G LDEfl6V, Si6UT @) (HF & ST 616u0TIq.6mW eTedreor allemevd: & el M& Gaustor(ILD ?

Al Rs. 99750

Rs. 99750
A2 Rs. 95000
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94

95

96

93

94

95

96

Rs. 95000
A3 R 89348
Rs. 89348
A4 R 89775

Rs. 89775

The given triangleis a:

Clarpasiull WpEEHETenTD s :

fM right angled triangle
Q&FMIGSTEO0T (LN &G & T6U0TLD
éz an equilateral triangle
FLOUGHS (D& GSTe0TLD
A3

a scalene triangle

IF OGS (P& GHTeorD

A4 an isosceles triangle

@ HFLOLIGS (PGS TEOTLD
Find the value of x, if x3x1013=205x1010,

x3x1013=207x1010 6T60f16V, X —60T LOBLIL| 85 T6TOTS.

Al
A2

. X
A3
. X

A4
x=2

Find the next two terms of the Fibonacci series 1, 1, 2, 3, 5, 8 are
LNeumeTT&ev Qg mLifler
,1,2,3,58_ 9053 Qe eTerora6T WITene.

AZ 4113

1,13
A3 43 )
13,21
A4 9107
21,27

The mean of 8 given observations is 75 and if a data 40 is removed from the given data then the mean of the remaining data is :
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97

98

99

100

97

98

99

100

Q&MTH&SLILLL 8 sraysseafler &rmarl 75 2156 mBH S 40 6160t SI6y B&HSLILIL LT LG LOETET &T6y & 6rfleor
Frnaflumerg) :

Al 35
35
AZ 75
75

A 70
70
Ad g
80

Which of the following is correct ?

LY 6tTeu B eueTeU HMIET 6T&l &ifl 2
AI Opposite angles of a cyclic quadrilateral are supplementary

QL BTH&HIES 6T TS JCaHMeuuTh &6 e & BITLILIS C&TeuNhIS6T @& LD
.A2 Opposite angles of a cyclic quadrilateral are complementary

QI L BTMH&IESS 60T TS G Meuor &6 BITLIL|S G8ITeor kIS 6T @G0
_AS Opposite angles of a cyclic quadrilateral are right angle

QL BTMH&HIESS 60T TS G M600TEI&6T G5 BIGETEuTLD &G LD
fA4 Opposite angles of a cyclic quadrilateral are acute angle

QILL BMMH&TSHE 60T eTH [T G T600T IG5 6T (&.MIMIG8 TEsor LD &L

(atb)*-(a-b)* =
(ath)? -(a-b)* =

Al 2(a2+b?)

2(a2+b?)
52 4ab
4ab
Mo
0
A )
4(a>+b?)

Ifa-b=4and ab= 60 then the value of a+ b is :
a-b=4DMMILD ab = 60 6Tevfl6L a + b 60T DG LILIMTEOTSI :

What will be the 23" letter in the pattern ?
DEFDDEEFFDDDEEEFFF---

DEFDDEEFFDDDEEEFFF...6T60TM) 21emLoLILN60 236U 2 miliL] :

Al g
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A2

e

A3

A4

Q o T U

101 1101 Which one of the following is incorrect for y = f(x) ?
BECL AHMHSSHLILLL ammiserfley eTemal y = f (x) && Fiflwevey ?
"Al y = -f(x) is the reflection of the graph of f about the x axis
X SFMFL QUGS y = f(x) 6T LITHLedL y =-f(x)
'AZ y = -f(x) is the reflection of the graph of f about the y axis
y SIFMFL QUGS y = f(x) 6T LIT&HLedLliy y = -f(x)
_A3 y = f(-x) is the reflection of the graph of f about the y axis
y SIFMFL QUTMISS y = f(x) T LITHILefLiL y = f(-x)
.A4 y= £1(x) is the reflection of the graph of finy =x
y =x 6T60TM CBI&GHTLIQ6MeT QUTMISS v = fi(x) 60T LNFHLNLIL] y = fl(x) QLG LD.

102 102 Circumference of the circular disc of radius 7cm is :
QL $&L1960T 9D 7 Q& LS 6Tevfl6L & MHME6) 6T6dTe0r ?

,Al 7m cm
n Q&FLS

A2 orem

12n Q&L
‘:A3 l4mem
l4n Q&LS
'A4 8t cm

81 Q&FLS

103103 Find the difference between simple interest and compound interest for the principal Rs. 2,00,000 and rate of interest 4 % p.a and for 2 years.
2]F6V Rs. 2,00,000, 6UL_1q 6F&LD 4% @) T600T(H) 26007 (H & EH 5 S Fal_ () GUL_LQ LDMHMILD F6ofl QUL 198G 2_6iTer
CoumiLIM® &ITeoorss.

Al Rs.320
Rs. 320
AZ Rs. 360
Rs. 360
A3 Rs. 380
Rs. 380
A% Rs.400
Rs. 400

104 /104 Which of the following values cannot be a probability of a event ?
Q&MH&HLILLL eTatoraerfley eTemel B DS SIS @) [(HES (LILWITS ?

Al s
0.5
A2

1
A3 0.253
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0.253

A4 001

1.001
105105 The internal bisector of an angle of a triangle divides the opposite side internally in the ratio of the corresponding sides containing the angle -
This is known as :

([ (DSBS MTETSHH) 60T 62(H GG METTSHH 60T 2 L L|M @)(H FLD QeUL_ I UITETS! 318 C5 TSP 60T TH [T LISHS5005
2 | LMLOTS D (INE G TS S enem SIL &R W LI smISG66r B 5855 60 L6 0 — ererLIg)

‘,Al Thales Theorem

Gz 6ve GHMmMmLD
62 Pythagoras Theorem
Hgsnerev Csmhmib
‘:A3 Converse of Basic Proportionality Theorem

St &S Flo CHMHMSHH 6T L0 WIS D60
54 Angle Bisector Theorem

G IMettr @ (HEFLLQ LY GHMHMLD

106 106 Muthu bought 24 eggs for Rs. 96. Four of them were broken and also had a loss of Rs. 36 on selling them. What is the selling price of an egg ?
(NSS! 24 (IDL_6DLGHEDI6IT €. 96 &G eUMTHRIREOTTH. UMMV 4 WL ML 6T 2_6mL 55 eflL_Leor . LSS 6wl
allHLIen 6T QFUISH6V eh. 36 HLL LD 6T60fl60 6(1H (L6088 Meor el (HLIem 60T 6llledIeu eTelaUETEY ?

Al pe.2.50

Rs. 2.50

AZ Rs. 150

A3

A4

107 /107 Two angles are in the ratio 4:5. If they are linear pair, then the angles are respectively :
@ 7600T(H) GG TEUOT RIS 6T 4 :5 6T60TM NG 55D 60 2_6iTement. 3jemeu GBIl & 6T &) 60)600T& 6T 6T6vT160 (LD MEW
UMM ME &ITEU0TS.

AT 100,80
100, 80
A2 80, 100
80,100
A3 40,50
40 50
A% 50,40
50,40

108 108 In what time will Rs. 8000 amount to Rs. 9600 at 5% S.I. per annum ?
618 5601607 2,600T(H) FH 616V Rs. 8000 2u,6W0T(H & 5% S6vfl aul g 6FF 560 Rs. 9600 248 2 WIHLD ?
_Al 3 years
3 =u,600T(H & 6T
{AZ 5 years
5 21,6001 () & 6T
‘:A3 2 years
2 24,600T(H) & 6T
A4 4 years
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110

111

112

113

109

110

111

112

113

4 91,600T(H) & 6T
What is the mode for the set of prime numbers from 1 to 100 ?
1 &6V 100 U TUNGUITEDT LIGIT 6T600T & 600785 H) 60T (LG5 (h) 6T6IT60T ?

Al

1

%2 100
100
53 does not exist

WG SHIT600T @ UIEVTSI
"A4 Infinite

616006001 |6V L_ MBI & TS S

If Rs. 7200 is divided among A and B in the ratio 5:3 then, B's share is :
Rs. 7200 &3 A LDMHMILD B 6T6dTM @) (B FLITHEHEHG 5 : 3 6Tedrm el R H5H v L1155 QaT(H SS5Me, B-56E& R &G0
QFHMTeN .

Al Rg 2750
Rs. 2750
A2 Rs.2500
Rs. 2500
A3 Rs. 2700
Rs. 2700
A4 Rs. 2600

Rs. 2600

In obtuse triangle, the orthocentre lie in the :
NiflGasmemor (LN&CH TS H 6V G588 CSHMTL(H 60D MU @)L LOT6TS) :

! Inside of triangle
(P E&CGTer0TS T 6o 2_6TG6T
A2 Outside of triangle

&GS TerTS H)6or GlelerflGul
"A3 Any vertex of triangle
(D&CEMETOTSH 60T (1 (LPemeoT Wiley
64 Vertex at right angle
Q&FmIGHMeTS S 60T 2_FFLIL|6Terf]
Which one of the following is not a measures of Dispersion ?
L9 66762 (1 6 60TEU D MIET EEBTMI LITEUED DETemEU {66V :
AI Range
efda
A

2 Quartile Deviation

SHITeuLDTenT ellevd: & LD

‘,A3 Mode

(LEAC)]
4 Variance
aNevs:as euisS Frmaifl

The single discount in percentage which is equivalent to two successive discount of 10% and 20% given an article is :
(@ QuTerfler LSa! eupmISLILIGLD @@ QSTLT S6TEbLIS6T (LenmEGL 10% WHMILD 20% 6refley, @HM &S
FLOLDITET SeTEBLIG&F FHaisLD :
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Al 6%

26%

AZ 30,

32%

A3 30,

30%

A% 550,

28%

14 114 The next number of the given pattern 4, 8, 32, 262 is .
4,832,262 6T60TM 2eMDLILN6L (D& S 6T6U0T.

Al 313

3132
A2 3023
3023
A3 3302
3302
A4 3030
3032

115 115 Find square root of 4596.84.
Q& &HELN6ULD &IT60oT 4596.84

A2 768

A3 867
86.7

A4 6 g

116 116

1 g |
If x--=5 then find the value of X T -

3 .[ . . . .
x-L=5 eraffied X "7 Bt wAlmus sed -
o

125

A4 s

25

n7 7 There are 35 apples and 21 oranges in a basket. You want to donate them together equally among the poor children. How many children can
you help at the maximum ?
62(1h Fnem) U6V 35 9 LILN6TSH@BLD 21 Y JEH&5EBLDL 2_6TaTeoT. @) LILILDTEISHEn6T FLOLDME Bh&ET 6fLpemLn
Blem6uUI aVI6TET G LLIHENSHEHEH S QHTHSHS 2_Fal B0 6Ts: S NI 56T eTefl6 AP EHLIL FLOME 615560 60T
GLHSHEHSHES 2 MBIGHETTE 2 FH6u (PLGU|LD ?
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119

120

e

118

119

120

Al
A2
A3
A4 g
10

The complement of impossible event is :

BL &S @ WS BlehFRuler BTl Blapad :

Al
-

¢

A2
0
S
Ay

1

Find median of given data.

Height (cm) 160 | 150 | 152 | 161 | 156 | 154 | 155
No. of students | 12 8 4 4 3 a 7

£1DHETEMIID HT6|SHEhHSE @lenLiblansy sHmstoTs :

o b (QF15) | 160] 150 [ 152 [ 161 [ 156 | 154 [ 155
WmewTeuTSetleor | 12 | 8 | 4 | 4 | 3 | 3 | 7
ETETUTEUnT I SEm S

Al 160 em

160 Q& .18
AZ 150 em
150 Q& .18
‘_A3 152 cm
152 Q&.18
'A4 155 cm

155 Q&.18

Given quadrilateral PQRS, [SPQ=RSP and PQ = RS then PRis equal fo :

s R

GET IT ON

Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2y47 Eooale Play

£&Mem)|b HrHsTD PORS -60 [SPQ=IRSP whmib PQ= RS sraflsh PR easmhE

FLoib ?

=] R

Al pg
PQ
A2 pg
PR
A3 s
QS
QE

QE

A4

121 121 Why dams are made stronger and broader at the bottom than at the top ?
21m6TE &L (D &6rflel GLeLIMG S el 3119 LIL|MLD 61696m D0 WITETS THE LD, &8 6VLDMETS T8 6 LD
MWD& LI BLILISI 6760T ?

fM Withstand the low pressure
SODAUTET S(DS5HHMS STHIRG Q& TeTem
.AZ Withstand the high pressure
SIH G WM S(DSHSEHMS HTHIRG Q& TeT6T

A3 Pressure neither be increased nor be decreased

U WHSD F& &S| G6Ve06U GmMA|LD @)66mey
54 Pressure is constant at all time
TLIQUMYSILD (WSS LDTMHTSI
122 122

Velocity of sound in the atmosphere of a planet is 400 ms™'. The minimum distance between the sources of sound and the obstacle to hear the
echo, should be :

@@ Gssmerfleir auerflneuor_sug&lev eedluler HlemaGaussLh 400 LSeNl - eranllel sTHQTMEd G551 8 660 eLPVSHMHGLD
qHATTeN&HGL LFILMHGLD @6 Cul CHemallLITeT GMbSELLF Q& Tamn6va :

_Al 17m

1718

52 20 m

20 18
53 25m
2518
54 50 m
50 LS
1231123 A conductor of length L having resistance R is stretched on nL then the new resistance :

L Berid Q& meoorL &L G uller 1eTEHemL R Q@& L. @560 BeTid nL 98 LTHMUILGWLEUTS LFH W LTSl :

_AI nR

=]
~

S
S
-

I KD
el
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A3 2R

nZR
;A4 n’R
n’R
124 124 If the focal length is 125 cm for a lens. What is the power of the lens ?
125 cm GeNW ST Q& Te00T L &5600T600T MLY.UIT6V Q& WIWLILIL L QeVedT& 60T &M em6oTds &Te0oTSs

Al 067D

0.67D
AZ 08D
08D
A3 omp
0.72D
A4 078D
078D

125 125 Formula for workdone by isothermal process by the gas is :
QeuliuBleney LT BleLpallev eumuyeume) QEFWIWLILL L Ceuen6eus&smeot eumium@ :

Al v,
W = pRTIn| -F
M
Vi
W = pRTIn|
v
A2
W = puRT In i]
Vi
W = pRT In i]
Vi
A3 AV
C W=l X
HRT |V
Vi
W = 1 |n[_f]
WRT LV,
A4 1
* we Lo ¥)
WRT |V,
W= in[ X
BRT LV
126 126 Two blocks of masses 8 kg and 2 kg respectively lie on a smooth horizontal surface in contact with one other. They are pushed by a

horizontally applied force of 15 N. Calculate the force exerted on the 2 kg mass.

8 & & LMHmID 2 K & BlenmuenL W G CUITIH6THET 6upeuLILITS 2 6TeT LIFLILI6y eTCmTH setTmi
QBTLITL Q& mevor(haTemenr. sjemeal 15 N sjemaileumer @enL ol L aflend Q& mevor(h 5878 & L1LIH G T m e 6Tevtl6v,
2 & & BlemmuemL W QUIMTIHET emL WD 6ilen &Feml &60ordHR (h&:

Al yn

4N
A2 5N
3N
A3 N
2N
At SN
SN

1271127 Compute the magnetic length of a uniform bar magnet if the geometrical length of the magnet is 18 cm.
augeilwich Berid 18 cm Q& MesoTL. EIMeT FLL &MTHSLD 60TM60T &ITHS HeTLD eTedTeor ?
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,Al 5cm

Scm
fAz 10 cm
10 cm
53 15 cm
15cm
'A4 20 cm
20 cm

128 128 The nature of Be(OH),, Ba(OH), and H,O respectively :
Be(OH),, Ba(OH), LoMmiLb H,0 Qb Weumnil6dr &6TemLods 6T (LpemmGUl :

fM neutral, amphoteric, neutral
BHBleme, FiflwevL] SedTemLn, H(H Blemev
fAz Amphoteric, basic, amphoteric
FrlwevL, &g gerenin, FifluleuL]
.A3 Amphoteric, basic, neutral
W6V SeTemin, &TTSHSeTemLn, FiflcUL| HeTenin
‘:A4 Basic, basic, neutral
SHMTSSETENLD, HTTHS 6T, H(H Blenev
129 1129 Flammable ice is :

erifluyLd LieoN & &L LG eTedTLIGI

Al .
. Frozen mixture of water and Ethane

B HmID F& G601 60T 2_60) M & V6T
2 Frozen mixture of Methane and Ethane

1858 C560T LDMHMILD T 5 C & 60T 60T 2_mm &Hevemel
53 Frozen mixture of Methane and Water
B LHmID 1586C5 60l 6T 2_emmasevenal

4 Frozen mixture of Methane and Propane
188 GG 60T LnMMILD L TLIGLIGHT60T 2_6mm&euemel

130 1130 Normality of a solution containing 2g of NaOH dissolved in 500 ml of water is

2g NaOH 500 1169 [Bifleb SempasLiLL L &eanggedledr HITTmedll1q

Al 1N

0.1N
A2 o5N
05N
A3 h0sN
0.05N
A4 oN
02N
131 131 Bases react with ammonium salts to form :

SITIHBIG6T DEWmesflwid 2 LiL|Ler eflemeor il H& Q&TH LILImeY :

:Al metal salts

2 Geurmas 2 L

2 .
ammonia gas
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SILLGLOmesflwm eumuy
A3
. water
By
54 metal salts, ammonia gas and water
2 Geurd 2_LIL|, SIhCmesflwIm eurmuy womib By
132 132
Predict the product
@ pt/Hgy
_
sflememliGlUm(BensT HetT(hlLN g & Hab.
@ pl/Hy
—2
AI Cyclo hexane
QUMETW Qam&ECg 6ot
2 Cyclo pentane
QUEDEITW G LG0T GL_60T
_AS Cyclo hexanol
GUEDEIT L QLN & & 60T IT6L
A4 Benzo quinone
QuU6TCF M U Geormedr
133133 The wave nature of electron was experimentally confirmed in which crystal by Davisson and Germer ?
6T6V 8 L Menf 60T 24616055 E0TemLOWIMerTS CLai& 60T LoMMID QRTLTTE CFMHener Q&FWWiIUL G
2 MIGUUGSSIULL LIG&LD 6T ?
fAl Na
Na
A2 i
Ni
‘,A3 Zn
Zn
N
Nb
134 134 (O)
In the reaction C,H-OH +H,0. The product'A'is.
S K CrOpH T B +Hy
CoHsOH — 9] N @ +H20. @EleisfensoTufcn ‘A’ srsitm sfememGlLIM(mET
KqCraO7/H
ETEOTE0T ?
fM Methanoic acid
QUG GHeTTUIE 3iLdleuib
52 Ethanoic acid
G HaTmulG odleuid
3 Propanoic acid
Urliuermuilg odleuib
4 Butanoic acid
wl Lermuig ojdleuid
135 135 Metal 'A' belongs to period 4 and group II. Metal 'A' when exposed to air and moisture forms a green layered compound. Metal 'A" is :
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Al 6TET 2_GeUT&LD GUTflen & 6T6tiN : 4 QHTSGD) 6T600T 11 QI GHTEUOTL &I, 2 CeUMTEHLD 'A' SL60TSI FFITE &ITMHMIL_ 60T
allemery b LIFang Bl LILeGHenS 2 ([HelTd:&H S eTeuilev 'A' 6T6dTm 2 CeumasLD :

Al ag
Ag
62 Cu
Cu
53 Cr
Cr
54 Zn
Zn

136 136 Name the enzyme which separate the DNA's two strands.
DNA a6t @ 76vor(h @ emLpgene eoflwimass Liflé@d QpmrHuller Quwi :

fM Topoisomerase
CLMEUTRCFTALOGT6N
62 Helicase
Camedl&Ba6n
‘,A3 Ligase
06VGBHEN
:A4 Cellulase
QFLIBEVEN
137 137
Match the following :
(a) Nitrobacter (i) Vitamins
(b) B. Polymyxa (i) Acetic acid
[c] Acetobacter aceti (iii) Polymyxin
(d) E. Coli {iv) Nitrification
QUMHEHSS :
la)  anBlErTEU&ELT li) ameul_ L LleTsReT
lb) B umedldl&Eerum i} aardlg & udleulh
e} SeuGLTEUSLIT HFI1q iy umedslgerdlesr
ld]  E Gmmemey liv)]  emBLITERE blemey Blmihse
Al . .. .
. (@@, ©)-(iD), (o)-(iii), (d)-(iv)
(a)-(1), (b)-(ii), (¢)~(iii), (d)~(iv)
A2 @i, )G, (©-iv). (@)
(a)-(ii), (b)~(iii), (c)=(iv), (d)-(i)
A3 @), ()i, (-G, (@6
(a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)
A% @i, ()i, (©)-0), (@)(iv)
(a)-(iii), (b)~(ii), (c)-(i), (d)-(iv)
138 138 Organism which can tolerate only small range of temperature variations are :
GMMBHS QeULILIBlemey IDMMILIT(H&em6T L (I QUIMTHS SIS Q& meTEpLd 2 ullifl6ormbig e :
! Heliophytes
eeflBITL_L &TelhIgGeT
2 Sciophytes
BIP6L BT LG STl mIGHe6T
A3 Erythermal
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wilasFo6
54 Stenothermal

GVELGETTOS IOV

139139 Which of the following hormone should be used to promote the elongation of inter - node in sugarcane ?
&@HLOL STaITSEH 60 Heviellen LILIGS BL & enuig SreoorL §Lp&:&600TLauMH mI6T 6% am My GLOMeneorL
LweTU®m S5 Geuevor(hLb ?

fM Ethylene

6155\ 60\ 607
:AZ Cytokinin
&L GL_IMTe0) & 60t 60T
A3 Gibberellin
SlL1red 6ot
"A4 Auxin
91,8 et
140 140 Generative apospory is found in :

2 (HEUMES &HHEUMTENS S & T ILIHeUS! :

’_M Citrus
FL_ev
52 Mangifera
IDMTEH& @ LITT
63 Aerva
e
54 Hieracium
amym&lwid
141 141 Find out which one is not a Archaebacteria ?

BLP&&ETL MM 6181 2,76 Lmsiefluih @ evene ?

‘,Al Methano bacterium

QGG GerT LmsLeflwib
62 Halo bacterium
ammCeur UMsleflwib
_A3 Thermo plasma

Q& FGLT emmevlom
A4

Acetobacter

FLGLT UMSLI

142 142 In DNA finger printing technology VNTRs serves as :
(19..67607.67.) DNA 6flJ6b Crema g QS mifleL BIL LIGH 60 "VNTRs "6TedTLIGI :

! Transgene to develop transgenic organism
UL uesor mmmULl L 2 ufiflgemner 2 (56 Te: @ e6us M & meor 2Uiey 56T
2 Vector to produce tDNA
tDNA - 6m6 2_([H6UTE G 6US M S TET &GS
:A3 Molecular markers for identification
SI6MLWITEITLD & T600T LIS M & 60T eLNEVE: G M1 GMIUTEH

‘_A4 rDNA for cloning
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&CaTmenfIil Q&FUI6SMETeT rIDNA

1431143 A person's blood test results displayed the decreased count of blood platelets. Which type of infection he had ?
@@l @rss UflCFTgameT QFUISCUNS QTSH55L (0 CF6U5H6T 6T6r0T6rnl 18 & GmMMelTd: @ (HLILIS
ST MlWLILL L g). @6 6ThS QGSTHMTE) LIMTHLILIEDL [HSIGTETTT 2

Al DEN-1.2 Virus

DEN - 1,2 ém6UIJ6ery
.AZ HINI1 Virus
HINI eme6uIyeny

53 HIV Virus

HIV em6uiyen

54 Rabies Virus

grLilen emeuyeny
144 1144 Which syndrome associated with mental retardation, delayed development, behavioural problems, weak muscle tone, vision and hearing
disability ?
6THS GBITUI LOGTEUETTFR S GemnmUTH), STLDSLOMET eUeTIFF), BLSeNS FMJHS LNTFFe0)60T86iT, LisvafeorLomeor
HF emLIL], LUMFenel GenmuUm® Hmib C&HL L6 GenmuUm® CUTeTmaImECmMTH Q&ML L LS ?

:AI Monosomy (2n - 1)
GurGerm@amll 2n— 1)
‘62 Trisomy (2n + 1)
QengGemdl (2n + 1)
_A3 Nullisomy (2n - 2)
BLENGEFTLA (2n—2)

54 Tetraploidy (4n)

BITEATLOWI [B163Y6V (4n)
145 145 Basal Metabolic Rate and body temperature is produced and controlled by the hormone :

Slg Ll eueTIReng ommm af&h LHMID 2 L6 Qalil 2 HUSHenW @WRIGLUG SSID amiTyGLOTeT :

fM Thyroxine

60 &7 T8 6n0l 601

.'/\2 Melatonin

QLeVGL Mmeafledr

3 Vasopressin

QUMGerumLiyerverdledr

A% psh

FSH

146 146 Erythroblastosis foetalis affects the child of the couple :

erfl5BrmLleTmeuGL T 6 eTemild H &1 QUMBHSTHIeme @bs LU WlearlenL Cw LINEEGLD GLHSHE

IOUGH DS :

TM RH™® mother RH*Ve father
Rh¥e ST, RhYe hem s
fAz RH™® mother RH-V¢ father
Rh™Ve ST, Rh™ Hems
53 RH"V® mother RH-ve father
RS, Rh™YC SH605
.A4 RH#ve mother RHTV father

Rh+ve ,Q')lTLI._I, Rh+ve Q’)!]')GU)Q’J
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147 147
148 148
149 149
150 150

For the Cryopreservation technique which chemical is used ?
RengCWTlejCauser Qsmlle BIL LUSH NS 6hs CeuH LIAUTHET LweTUHSSILGS S ?

Al Nitrogen

60V [BL_[J 82607

‘62 Liquid Nitrogen

B enpLyege0r
"A3 Ice
6
64 Formalin
uImyLoedlesr
A decline or cessation of muscular activity results in a condition called :

H0 & 56160 QEFWLITHISHET G6emMelg 3{60eV& WMMled (NL MBS GUMEGLD Blemev :

fM Muscle fatigue

STFF CFMiey
‘,A2 Atrophy
FHNFF QFWILDLILY
3 Muscle pull
Seng LN i
{M Muscular dystrophy
SNFFFmH6| GBI

HPV vaccine for cervical cancer is given to girls at the age of :
SGLL eumll Lmmi CHTLSSTeT &6 LULE QL6 GLbangsefley GUTLLILIBID euw g :

Al 9-10 Years

9-10 UWIH6L
.'AZ 9-11 Years
9- 1leuwHev
63 9-12 Years
9-12 WGV
fA4 9-13 years
9-13 UWH 6L

In Right atrioventricular valve, the apices of the flap are held in position by :
aleval gLiflGwm Qeueorl_fl& @Gy eumevailey, eumeueNeir GSLD (LHEDGIT&HET 6THG Hem& BLF &HeTmey
QUTBSSLILIL(H6Teng ?

‘,Al Papillary muscles
urilfeveuifl Hen&ger
2 Cardiac muscles
QBWS SOEFGET
:A3 Chordae tendinae
SMIGL QL 6dTLq Geor

4 Striated muscles

a5 560 & 56T

GET IT ON

Google Play
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